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02 It S AMHEL 45,000 10,000 35,000
Oaa3o #4435 X2 45,000
04 DI2FHALAISE E X 20,000 20,000 0
OLat30e & A 20,000
08 0IXENS 1,725,000 1,650,000 75,000
O24a3o S4X3 XL 1,725,000
-0IXMENES 1,575,000
20189 4 X3 0IXMEES
31,500,000,000& * 2.5% 787,500
201989 4 X3 0IXMEES
31,500,000,000& * 2.5% 787,500
—-NEESSE 150,000
A0 e X3 17,180 5,180 12,000




2N
X ZH -
L= B
el

2 Rel ™ DJ

= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 17,180 5,180 12,000
01 At 22l 17,180 5,180 12,000
ORsSaddeLEg 3 =
# x 7H x 23] 980
OSSEIHAIE HAHFH 2t =2
* 3% * 2000 & 4,200
ONHS TN L X N B2
2 === 12,000
Hd4adE AHMUS 8,000 8,000 0
< 2,600
Al 5,400
201 £B-2%| 8,000 8,000 0
< 2,600
Al 5,400
01 At 22l 8,000 8,000 0
OdMuns = 8,000
-JI2u=s 70,0003 = 80Al2t 5,600
< 2,600
Al 3,000
-Fltu=s 40,0003 * B0Al2t 2,400
SARrSSsSEFUH 2E 3,000,000 1,820,000 1,180,000
s 1,500,000
Al 1,500,000
401 Al Bl 28I 3,000,000 1,820,000 1,180,000
s 1,500,000
Al 1,500,000
01 A& HI 3,000,000 1,820,000 1,180,000
A2UZO SARSEFRUEH ZEMY 3,000,000
Ral=E DN 2l 2,747,000
s 1,373,500
Al 1,373,500
JlE 2 AAEA 253,000
s 126,500
Al 126,500
LIS 48 8&X9 X2AY 143,780 143,780 0
201 et 280 280 0
01 At 22l 280 280 0
OUSIHAH XEAAE
& x 28 x 23] 280
308 XXM S0 A 143,500 143,500 0
10 3/ 2SHUHSIAES 143,500 143,500 0
OUSIHH 54 d&X A& 143,500
A0 SFGANILHH 29 234,000 0 234,000
308 XXIEHSOIA 234,000 0 234,000




SH YRl EYY
o NABH 24
SRl AATO AW s UL AMEY (B9 ®R)

M
tor

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 3J/2S0HUHeB&EEALS I 234,000 0 234,000
OZMHE R 4230 SHAY 234,000
A2 FEEZ HLAY 100,000 0 100,000
< 50,000
Al 50,000
307 glz2+ol & 100,000 0 100,000
= 50,000
Al 50,000
02 LAFAAHEX 100,000 0 100,000
OLa3e 272 SN AMS 100,000
< 50,000
Al 50,000
2830 MEHE 2 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 IS AHE L 10,000 0 10,000
Oaazel 2242 0HAHE NHEE JIfs 2E
AHlA 1,000,000& * 1000 & X 10,000
aEds S3Hel X 156,000 0 156,000
SHELE Estel NJ 156,000 0 156,000
207 RO 30,000 0 30,000
01 2339l 30,000 0 30,000
OE3tHel 820X g 9|
10,000,000 = 30H & 30,000
307 glz2+ol & 6,000 0 6,000
02 YAFHAANFEX 6,000 0 6,000
OE3tAHel 28 XA 2,000,000& * 3002 6,000
401 AIEHIZL 2CHYI 120,000 0 120,000
01 A& Hl 120,000 0 120,000
OSstHel ELE(=EE) 84X
40,000,000& = 304 120,000
UMY sS4 152,490 145,670 6,820
< 8,800
Al 143,690
2303 HLXNA(ZHIEX) 52,800 48,000 4,800
< 8,800
Al 44,000
307 21201 A 52,800 48,000 4,800
< 8,800
Al 44,000
02 QB AAHEX 52,800 48,000 4,800
OEXNEYM =303 M N2
2,400,000& = 220 S &l 52,800
< 8,800




SN LRelHYD
o (AR 2
S BOHNY K4

=

e

CHE - EI(BA) - NRAY - BYS

=

i
2m

Al

44,000

1o [
4
08

45,000

45,000

45,000

45,000

SH3 e X
0 S Al)

45,000

45,000

45,000

51,690

49,670

2,020

24,030

19,730

4,300

|
02
=

2t 2el RX=2=

J

Jo
>

0> 1o M
0> OH Of ot

02 O

1

rar

2 &g 300,008 * 8%
ks 4,008 * 5005

2 8,000 * 40%

EET

S Ayl

g A

S YMsg

H USUM M=

mE= 1,000,000 * 43|

1,000& = 2,000%

350,000 * 5JH A

20,000 * 80H

8,000& = 8%  15¢

250,000 = 404 = 2¢&

500,000& » 2

2,500& = 400%

3,750

2,000

1,750
20,280
14,280

2,400

1,600

600

2,400

2,000

1,000

320

1,000

960

2,000

1,000

1,000
4,000

3,750

15,980

4,300

7,660

6,860

800

Oit

43
00,000& = 8%H
2

100,000& * 20€

G FotA 243
27,000% * 90 = 23

7,660

800

2,000

4,860

6,860

800

20,000

20,080

A 80

o
=
(IS}
hal
0

580,000& = 259

16,500

14,500

16,500
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2AM: LXel ™
M NAZH 43
Sl BoIMY S CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OR4& M X0 =2zsl I 2,000
04 QIZFHALAIH B = 3,500 3,580 A 80
OZHSEAE HEXA 3,500
SESA XA AtHE AY 3,000 3,000 0
201 £B-2dH| 3,000 3,000 0
01 At 22l 3,000 3,000 0
OZEHANA MY 22 L 222 NE
300& = 5,00001 = 23l 3,000
HdEANE 3E 803 XA 1,110,400 779,280 331,120
= 82,500
< 144,750
Al 883,150
HEANE gL 15,400 10,200 5,200
201 Let24d] 11,400 6,700 4,700
01 At 22l 11,400 6,700 4,700
OFSAE 08 8 =2 M
55,0003 * 20014 * 43 4,400
OESAE 08 EE2= MH
1502 * 4,00004 = 23] 1,200
OFSANE 2524353 E2=2 MH
1002 * 4,00004 = 23] 800
OESAE 43t A4 H|
250,000& = 2% = 103/ 5,000
202 odl 2,000 1,500 500
01 = LH o4 1l 2,000 1,500 500
OFSANE 243t dRFANH| 2,000
203 PR =&l 2,000 2,000 0
03 Al =X A2 =X 2,000 2,000 0
OFEAZE DHAHE AIMFZ=X ARFZY| 2,000
HEANE OIHE XA 110,000 15,000 95,000
201 L2l 80,000 0 80,000
03 A2 Z Hl 80,000 0 80,000
OXGHIEIHBIOIAIE 2339 & 8 29 80,000
307 21201 A 30,000 15,000 15,000
02 QB AAHEX 30,000 15,000 15,000
OESAE 43t XNIAS
5,000,000& * 60 Al & 30,000
=stzdd ANE 854 T2 520,000 450,000 70,000
308 XXM S0l A 520,000 450,000 70,000
10 B2 SUHUe3&HAE A 520,000 450,000 70,000
OSEANE 2st2ZEHAE SEAY 270,000




A LXelE M

g NSFH 2435
Sl MSAY Y HOS N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHAY S2EEANE SEAMY 250,000
St FENE 4 NI AY 300,000 300,000 0
< 120,000
Al 180,000
201 Let2d] 50,000 69,000 A 19,000
< 20,000
Al 30,000
01 At 22l 15,000 14,000 1,000
O&ZF EAE BHE 222F M
5,000& = 3= * 1,0004 15,000
< 6,000
Al 9,000
03 & Ar2 Gl 35,000 55,000 220,000
OXGANE SSAE HY L BOHE A
5,000,000 = 73l 35,000
< 14,000
Al 21,000
401 AIEHI L 2 CHYI 250,000 231,000 19,000
< 100,000
Al 150,000
01 A& HI 250,000 231,000 19,000
O S3AE AdUAMAS M 50,000
< 20,000
Al 30,000
O&ZF SsAIE BE 2tgt I FHl S A 200,000
< 80,000
Al 120,000
HEANE W A& IS SEAMY 165,000 0 165,000
= 82,500
= 24,750
Al 57,750
201 Let24E] 15,000 0 15,000
= 7,500
< 2,250
Al 5,250
01 At 22l 15,000 0 15,000
OoFgael IS OHAH I
1,800,000 = 53l 9,000
= 4,500
< 1,350
Al 3,150
OFE & &Y Astus AAl
150,000& » 10 =« 43 6,000
= 3,000
< 900
Al 2,100
307 21201 A 150,000 0 150,000




SN LRelHYD
o NAYH a3

S MSAME Z3E s N (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 75,000
= 22,500
Al 52,500
02 QIZFAAAIE E X 150,000 0 150,000
OFE A IISIHAH AL X & HI
15,000,000& = 10Y 150,000
= 75,000
& 22,500
Al 52,500
HSAE AME Sz XS 75,760 641,660 A 565,900
HNEANE AL KX 22 75,760 337,660 A 261,900
201 LBt 25,760 18,660 7,100
01 AP 22| H| 9,560 7,260 2,300
OZIIMHEE XA AH M2IF HAH|(HE
A& 70,000 *~ 3YH * 60 A& 1,260
ONEANZE A (FI])HN HUAXEE2
150,000& = 34 = 23] 900
OZ2LANTLZHE0IE AR AESK 22|
1,500,000 * 402 6,000
ONIZH0IE MNa=X HIlAS(HA)
700,000& * 1A * 23] 1,400
02 E2=2=2%H| 16,200 11,400 4,800
OZ2&AIZ HIIOtA QE L]
130,000 = 402 = 12&€ 6,240
OZ2EANE AS(&HY, HEFH) SAE22
150,000 = 3 & = 12&€ 5,400
OREZHOIE U FAUANE ALAL genel
130,000 = 2o & = 12&€ 3,120
OXHZBAH0E 2| /A2
120,000 * 12& 1,440
207 SO0 8,000 8,000 0
01 4| 8,000 8,000 0
OFSAR YA SISR 4E B
1,000,000 * 8 8,000
401 Al EHI L 204 HI 42,000 311,000 A 269,000
01 A& H| 42,000 311,000 A 269,000
OFEANZT CSAES MAAY
7,000,000 * 6IH A 42,000
SJIotd 22| 78,720 79,280 A 560
o= 9,600
Al 69,120
2JIotE AI® F=& 44 160 44,160 0
201 et 4,440 4,440 0
01 At 2teltl 4,440 4,440 0




SN LRelHYD
o AR 2

& SotetE e (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OAHIANEMAORARAZ FHAH £E
70,000& x 14Y « 33| 2,940
O2Jotd EE2=2 M & 100! = 15,0000H 1,500
203 € R F&d| 3,000 3,000 0
03 Al ZH =X 2= XIH| 3,000 3,000 0
OS2It HRFA| 3,000
301 et A= 36,720 36,720 0
12 JIEtE2 &= 36,720 36,720 0
OAl SIIR2LIEHRY &= 2a=2
256,000& = 10¥ * 128 30,720
OGHHA0HC XIE AtA AL 24
20,0003 * 30004 2 6,000
T SII2ULEHE o1AHH XNAS 9,600 9,600 0]
o= 9,600
301 et A= 9,600 9,600 0
= 9,600
12 J|EtE2 A= 9,600 9,600 0]
O SIHR2LHRY &= Ba2
200,000& * 4% = 12& 9,600
o 9,600
Jp2otd @-EAA g= o X 24,960 25,520 A 560
201 et 24,960 21,920 3,040
01 AP 2t 2] H| 24,960 21,920 3,040
O&INAAA QIMEIE XN (MYIIEE)
600 * 300H * 60IHA » 128 12,960
ORBIIHAYA TXNE U ASEE HAH
600,000 * 1500 A 9,000
OXsIIHAA AL EFES U EE2E HE 3,000
AHANES 27,000 38, 109 A 11,109
AHIOGESAY =& (KHMIHL) 27,000 28,500 A 1,500
201 et d| 1,500 1,000 500
01 AR 22l ] 1,500 1,000 500
Okol AHXANE WM F& 500& * 3,000 1,500
202 04| 2,400 2,400 0
01 2L HI 2,400 2,400 0
OAHIAESE g2 FA0H| 2,400
307 giztol A 23,100 23,100 0]
02 QI2tAAMAIE E =X 4,100 4,100 0
ONEZ=HITHAR¥E XA 2,500
Oadl s AA XS 1,600
03 AN EESIHE=X 19,000 19,000 0




2N
X ZH -
L= B

el

2 Xtel & 2
ANSFH gdst
2HIXES

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OZoHYMCA AHIAAEHE 29 9,500
OZHYWCA AHIANAEHE 29 9,500
X otd & 53 e 6,259,168 4,184,822 2,074,346
2 2,614,618
Jl 21,200
= 244,984
Al 3,378,366
X 2l 6,259,168 4,184,822 2,074,346
= 2,614,618
Jl 21,200
< 244,984
Al 3,378,366
ATHMEN UK 88 5,000 1,900 3,100
201 2Bt2 2,000 1,900 100
01 At 22l bl 2,000 1,900 100
OaMMOUHA 8235 7L
2,000& = 1,000 2,000
405 THatFH S 3,000 0 3,000
01 H&H ESHSH 3,000 0 3,000
OEETAUHI(ATHHM UK AIL EHEALS) 3,000
AITHA O X XIS XT3 AFS 2,442,000 1,914,160 527,840
= 1,009,500
< 150,000
Al 1,282,500
401 AIEHIZ 2 0HHI 2,142,000 1,564, 160 577,840
= 1,009,500
Al 1,132,500
01 A€ dl 2,140,000 1,562, 160 577,840
O3z 2= = g EXSEM 36,000
= 16,000
Al 20,000
Osl= 2= e BHeEd EX3AM 1,029,000
= 463,000
Al 566,000
OZAEA2 EHSZ EXSA 144,000
= 65,000
Al 79,000
Ozl Z22< ez &X(10000 ) 931,000
= 465,500
Al 465,500
03 AlE 2 THHI 2,000 2,000 0
ONSARNAAMS (2L S2E)AELRUH 2,000
403 TtXI M SA=01A 300,000 350,000 A 50,000
= 150,000
Al 150,000




A LXelE M
U &d & 35 o

S Xl 22l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 BI2SHUSAN2EAEAIS Y 300,000 350,000 A 50,000
OMASE ZSTY B AX2A 300,000
= 150,000
Al 150,000
NI X =X &AL 92,000 92,000 0
= 26,000
Al 66,000
402 SI2FXHE0| & 92,000 92,000 0
= 26,000
Al 66,000
02 X2 A E X (0| X THS) 92,000 92,000 0
OXMTHMAHH X JHelz=ed X & 92,000
-SHXE2 26,000
= 26,000
- AlHI X &2 220,000,000& = 30% 66,000
MM HX S=2EAIS 1,783,111 1,612,000 171,111
= 1,069,740
Al 713,371
402 SI2vXHE0| ™ 1,783,111 0 1,783,111
= 1,069,740
Al 713,371
02 CIZXIE A E X (0| X THH) 1,783,111 0 1,783,111
OXMTHMAH UK s=28 NIAY 1,783,111
= 1,069,740
Al 713,371
FUHS MHXN=2X A 200, 156 154,000 46,156
= 100,078
Al 100,078
401 AlEHI 2 2 0HY| 200, 156 154,000 46,156
= 100,078
Al 100,078
01 Al&H| 200, 156 154,000 46,156
OdE2EdHEHR 2 2)HA LED WA Z2At 200, 156
= 100,078
Al 100,078
SCAIIA B2 &0 80,840 100,840 A 20,000
201 et 840 840 0
01 AP 2t 2] H| 840 840 0
OEAIIA 23 Agd ¢
70,0008 * 6YH * 23| 840
307 gizto| A 80,000 100,000 A 20,000
02 QI2tAAMAIE E =X 80,000 100,000 A 20,000
OZAIA =X AIEE2E= A
400,000,000 * 20% 80,000
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A LXelE M
U &d & 35 o

a

S Xl 22l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
JpAOFM 22| 6,450 6,450 0
201 gBt24d| 2,450 2,450 0
01 AP 22| H| 2,450 2,450 0
OJIAFZSYA ot WEWIH Ol
2,2008 * 2508 * 13| 550
OJlASs4AE HEE Al 2 2,000 * 20004 400
ONABHL HYAM +42
300,000 = 50 A 1,500
202 04| 4,000 4,000 0
01 2Ll 4,000 4,000 0
ofuXI2els d2=&0H| 4,000
G X&Et 22 102,400 127,400 A 25,000
201 et 1,400 26,400 A 25,000
01 AP 2t 2] H| 1,400 1,400 0
OXYGHX&EAXAS 223 WEH|
700,000 = 2 1,400
401 Al HI L £ 0HHI 101,000 101,000 0
01 Al& H| 100,000 100,000 0
OZ2ZF A LED ZH WA 100,000
03 Al&E 201 Y| 1,000 1,000 0
OA&EE0id] 1,000
MBS JIAAA JHEAFY 471,625 50,007 421,618
= 377,300
Al 94,325
403 XX SHHS K20 & 471,625 50,007 421,618
= 377,300
Al 94,325
02 2I2SOHUSA=2EAEAIS Y 471,625 50,007 421,618
OKNBI= JIAAAE HE ALY 471,625
= 377,300
Al 94,325
ANOIES JIAEIYYEE BZAY 24,969 37,365 N 12,396
o= 12,484
Al 12,485
403 XX SRS K20 & 24,969 37,365 N 12,396
= 12,484
Al 12,485
02 2I|2S0 et 2= EAS Y 24,969 37,365 N 12,396
OKBI=E JIAEIAYEE HI2AIY 24,969
= 12,484
Al 12,485
LPIFAAIE A XIZ 0l AFS 195,000 25,000 170,000
= 58,000




A LXelE M
U &d & 35 o

el X 2el (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 54,000
Al 83,000
403 HXISHH S Xt =201 195,000 25,000 170,000
= 58,000
=) 54,000
Al 83,000
02 S 2SO HEAHE X 2 E AL H 195,000 25,000 170,000
OLPIIAAIE QEAEXIZ 0l ALY 195,000
= 58,000
< 54,000
Al 83,000
N2IE MIIAIE HEAMSE(EHIEX) 7,500 7,500 0
= 2,500
Al 5,000
206 T2 HI 7,500 7,500 0
=) 2,500
Al 5,000
01 M= dl 7,500 7,500 0
OMEIE HIIAE HE MEZHI 7,500
< 2,500
Al 5,000
NeIZE ®IIAE N AL (KR E) 24,000 24,000 0
201 ¢er24| 24,000 24,000 0
01 AF2 22l bl 24,000 24,000 0
ONIE HINE B2 242
60,0003 = 400l CH 24,000
BHAFEINY SSMA=K 19,800 19,800 0
J| 19,800
307 glztol & 1,800 1,800 0
J| 1,800
02 UAHFLYAEEE 1,800 1,800 0
OR4 MEHIS AZSLAL FHISG X2
A (2=ItS) 1,800,000& = 14 1,800
J| 1,800
401 Al HI L 2 THHI 18,000 18,000 0
J| 18,000
01 A& HI 18,000 18,000 0
OMZR 2FEA FHIY KA (MY T
22l) 18,000,000& * 14 18,000
J| 18,000
SHAFEHX A ASSU 1,400 1,400 0
J| 1,400
307 glztol & 1,400 1,400 0
J| 1,400
02 It HAMAEE 1,400 1,400 0
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2N

X ZH
S =

el

2 Xtel & 2
U e R B8
Ol R 2el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OGMKZE & ENZUE A FHXSA XA (X
dle) 1,400
J| 1,400
AR5 S 1,000 1,000 0
201 Let249] 1,000 1,000 0
01 At 22l 1,000 1,000 0
OX® -5 td2e 222 MA 1,000
NAUUER Aoty -85 X3 AL 801,917 0 801,917
207 Ao H| 50,000 0 50,000
01 289 50,000 0 50,000
OAOLEDRIE JI=2HE =8 29 50,000
802 Btet= DI Et 751,917 0 751,917
(SN S=R=g=g= 751,917 0 751,917
OXYUUHRI A 245 XNJAAY BHES 751,917
A2 (LRl H ) 130,040 147,312 A1T,272
Jl=&l 130,040 113,530 16,510
Jl2zl 130,040 113,530 16,510
201 Let24d]| 36,500 34,390 2,110
01 At 2teltl 36,500 34,390 2,110
OJIE=ARESF Y 8,000
O=SAI & Z2HAZRE 2| 6,000
020178 =SS AH 24200 A Al A2 MI+ QI H|
100,000& * 10& 1,000
OJIEt==EH| 3,300
OO0kt & S22 RX S 4l
650,000 = 289H 18,200
202 Odl 80,640 66,240 14,400
01 = LHA YI 80,640 66,240 14,400
OJI2g2F&0HHl 240,000 » 28%H  12& 80,640
203 R =& 7,500 7,500 0
01 JI122E YR =2 3,300 3,300 0
OJl22g gfFal 3,300
04 BENSSHRF=LHI 4,200 4,200 0
ORN2g d2=xH| 4,200
204 AR A H| 5,400 5,400 0
01 ¥R A 5,400 5,400 0
ONMZ A2+ AY| 5,400
-=% 4,200
- & 1,200

_23_




	07_일자리정책과(세입)
	07_일자리정책과(세출)

